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12 () ) ()
0.162 5.9 0.96
35 S__ 48| 3.2434 15 48 0 0
34 S 49| 31187 9 29 0 0
33 S 50| 29987 3 10 0 0
32 S_ 51| 28834 0 0 0 0
31 S 52| 27725 0 0 0 0
30 S 53] 26658 2 5 0 0
29 S 54 25633 1 2 0 0
28 S 55| 24647 1 3 0 0
27 S_ 56| 2.3699 2 5 0 0
26 S 57| 22788 0 0 0 0
25 S 58| 21911 0 0 0 0
24 S 50| 21068 0 0 0 0
23 S__ 60| 20258 0 0 0 0
22 S 61| 19479 0 0 0 0
21 S 62| 18730 0 0 0 0
20 S 63 18009 4 7 0 0
19 H_ 1] 17317 12 20 0 0
18 H__ 2] 1.6651 11 19 0 0
17 H__ 3] 1.6010 13 22 0 0
16 H__ 4] 15395 13 19 0 0
15 H__ 5] 1.4802 17 25 0 0
14 H_ 6] 14233 9 12 0 0
13 H__ 7] 1.3686 10 14 0 0
12 H_ 8] 1.3159 8 11 0 0
11 H__ o] 1.2653 5 7 0 0
10 H_ 10| 1.2167 14 17 0 0
9 H__ 11| 1.1699 7 8 0 0
3 H_ 12] 1.1249 6 6 0 0
7 H__ 13| 1.0816 11 12 0 0
6 H__ 14] 1.0400 8 8 0 0
5 H__15] 1.0000 7 7 0 0
4 H__ 16] 0.9615 6 5 0 0
3 H__17] 09246 5 5 0 0
2 H__ 18] 0.8890 5 5 0 0
1 H__19] 0.8548 3 3 0 0
H_ 20| 08219 0 0 1 1
1 H__ 21| 0.7903 0 0 1 1
2 H_ 22| 0.7599 0 0 1 1
3 H_ 23] 0.7307 0 0 1 1
4 H_ 24] 07026 0 0 1 1
5 H__ 25| 0.6756 0 0 1 1
6 H_ 26] 0.649 0 0 1 1
7 H__ 27] 06246 0 0 1 1
3 H_ 28] 0.6006 0 0 1 1
9 H__29] 05775 0 0 1 1
10 H_ 30] 05553 0 0 1 1
11 H_ 31] 05339 0 0 1 0
12 H_ 32| 05134 0 0 1 0
13 H__ 33| 04936 0 0 1 0
14 H_ 34] 04746 0 0 1 0
15 H__ 35| 04564 0 0 1 0
16 H__ 36] 04388 0 0 1 0
17 H__37] 04220 0 0 1 0
18 H__ 38] 04057 0 0 1 0
19 H__ 39] 0.3901 0 0 1 0
20 H__ 40| 03751 0 0 1 0
21 H__41] 0.3607 0 0 1 0
22 H__ 42| 0.3468 0 0 1 0
23 H__ 43| 03335 0 0 1 0
24 H__ 44] 03207 0 0 1 0
25 H__45] 0.3083 0 0 1 0
26 H__ 46] 0.2965 0 0 1 0
27 H__47] 0.2851 0 0 1 0
28 H_ 48] 02741 0 0 1 0
29 H__49] 0.2636 0 0 1 0
30 H_ 50| 0.2534 0 0 1 0
31 H_ 51| 0.2437 0 0 1 0
32 H_ 52| 02343 0 0 1 0
33 H_ 53] 0.2253 0 0 1 0
34 H_ 54| 0.2166 0 0 1 0
35 H__ 55] 0.2083 0 0 1 0
36 H_ 56] 0.2003 0 0 1 0
37 H_ 57] 0.1926 0 0 1 0
38 H_ 58] 0.1852 0 0 1 0
39 H_ 59| 0.1780 0 -2 1 0
208 333 37 16

208 37




12 ) ) C )
0.162 0.0 0.00
2 H 16| 09615 6 5 0 0
3 H 17| 09246 6 5 0 0
2 H 18] 0.8890 5 5 0 0
1 H 19| 08548 3 3 0 0
H 20| 08219 0 0 0 0
1 H 21| 07903 0 0 0 0
2 H 22| 07599 0 0 0 0
3 H 23] 07307 0 0 0 0
4 H 24| 07026 0 0 0 0
5 H 25| 06756 0 0 0 0
6 H 26| 06496 0 0 0 0
7 H 27| 06246 0 0 0 0
8 H 28] 06006 0 0 0 0
9 H 29| 05775 0 0 0 0
10 H 30| 05553 0 0 0 0
11 H 31| 05339 0 0 0 0
12 H 32| 05134 0 0 0 0
13 H 33| 04936 0 0 0 0
14 H 34| 04746 0 0 0 0
15 H 35| 04564 0 0 0 0
16 H 36| 04388 0 0 0 0
17 H 37| 04220 0 0 0 0
18 H 38| 04057 0 0 0 0
19 H 39| 03901 0 0 0 0
20 H 40| 03751 0 0 0 0
21 H 41| 03607 0 0 0 0
22 H 42| 03468 0 0 0 0
23 H 43| 03335 0 0 0 0
24 H 44| 03207 0 0 0 0
25 H 45| 03083 0 0 0 0
26 H 46| 02965 0 0 0 0
27 H 47| 02851 0 0 0 0
28 H 48] 02741 0 0 0 0
29 H 49| 02636 0 0 0 0
30 H 50| 02534 0 0 0 0
31 H 51 02437 0 0 0 0
32 H 52| 02343 0 0 0 0
33 H 53] 02253 0 0 0 0
34 H 54| 02166 0 0 0 0
35 H 55| 02083 0 0 0 0
36 H 56| 02003 0 0 0 0
37 H 57| 01926 0 0 0 0
38 H 58] 01852 0 0 0 0
39 H 59| 01780 0 0 0 0
20 18 0 0

20 0




12
() ) ) )
( )
A x (A) (A)x <A () %
H 1.01120 | 0.99615 | 1.00723 0.8219 105 0 9 35 149 122 1 0 0 1 2 2 0 0 151 124
1 H 1.01108 | 0.99613 [ 1.00718 0.7903 106 0 9 34 150 118 1 0 0 1 2 1 0 0 152 120
2 H 1.01096 | 0.99612 | 1.00712 0.7599 108 0 9 34 151 115 1 0 0 1 2 1 0 0 153 116
3 H 1.00713 | 0.99736 [ 1.00464 0.7307 108 0 9 34 152 111 1 0 0 1 2 1 0 0 154 112
4 H 1.00708 | 0.99735 | 1.00461 0.7026 109 0 9 34 152 107 1 0 0 1 2 1 0 0 154 108
5 H 1.00703 | 0.99734 [ 1.00459 0.6756 110 0 9 34 153 103 1 0 0 1 2 1 0 0 155 105
6 H 1.00698 | 0.99733 | 1.00457 0.6496 111 0 9 34 153 100 1 0 0 1 2 1 0 0 156 101
7 H 1.00693 | 0.99733 [ 1.00455 0.6246 111 0 9 34 154 96 1 0 0 1 2 1 0 0 156 98
8 H 1.00689 | 0.99732 | 1.00453 0.6006 112 0 9 34 155 93 1 0 0 1 2 1 0 0 157 94
9 H 1.00684 | 0.99731 [ 1.00451 0.5775 113 0 9 34 155 90 1 0 0 1 2 1 0 0 158 91
10 H 1.00679 | 0.99731 | 1.00449 0.5553 114 0 9 34 156 87| 1 0 0 1 2 1 0 0 158 88|
11 H 1.00675 | 0.99730 [ 1.00447 0.5339 114 0 9 33 157 84 1 0 0 1 2 1 0 0 159 85
12 H 1.00670 | 0.99729 | 1.00445 0.5134 115 0 9 33 157 81 1 0 0 1 2 1 0 0 159 82|
13 H 0.99969 [ 0.99414 | 0.99837 0.4936 115 0 9 33 157 78 1 0 0 1 2 1 0 0 159 79
14 H 0.99969 | 0.99410 | 0.99837 0.4746 115 0 9 33 157 74 1 0 0 1 2 1 0 0 159 75
15 H 0.99969 | 0.99407 | 0.99837 0.4564 115 0 9 33 157 71 1 0 0 1 2 1] 0 0 159 72
16 H 0.99969 | 0.99403 | 0.99837 0.4388 115 0 9 33 156 69 1 0 0 1 2 1 0 0 158 69
17 H 0.99969 | 0.99400 | 0.99836 0.4220 115 0 9 32 156 66 1 0 0 1 2 1] 0 0 158 67
18 H 0.99969 | 0.99396 | 0.99836 0.4057 115 0 8 32 156 63 1 0 0 1 2 1 0 0 158 64
19 H 0.99969 | 0.99392 | 0.99836 0.3901 115 0 8 32 155 61 1 0 0 1 2 1] 0 0 157 61
20 H 0.99969 | 0.99389 | 0.99835 0.3751 115 0 8 32 155 58 1 0 0 1 2 1 0 0 157 59
21 H 0.99969 | 0.99385 | 0.99835 0.3607 115 0 8 32 155 56 1 0 0 1 2 1] 0 0 157 57
22 H 0.99969 | 0.99381 | 0.99835 0.3468 115 0 8 31 155 54 1 0 0 1 2 1 0 0 157 54
23 H 0.99801 | 0.99542 | 0.99743 0.3335 115 0 8 31 154 51 1 0 0 1 2 1] 0 0 156 52
24 H 0.99801 | 0.99540 | 0.99742 0.3207 114 0 8 31 154 49| 1 0 0 1 2 1 0 0 156 50
25 H 0.99801 | 0.99538 | 0.99741 0.3083 114 0 8 31 153 47 1 0 0 1 2 1] 0 0 155 48
26 H 0.99800 | 0.99536 | 0.99741 0.2965 114 0 8 31 153 45| 1 0 0 1 2 1 0 0 155 46
27 H 0.99800 | 0.99534 | 0.99740 0.2851 114 0 8 31 153 43 1 0 0 1 2 1] 0 0 155 44
28 H 0.99799 | 0.99531 | 0.99739 0.2741 114 0 8 31 152 42| 1 0 0 1 2 0 0 0 154 42|
29 H 0.99799 | 0.99529 | 0.99738 0.2636 113 0 8 30 152 40 1 0 0 1 2 0 0 0 154 41
30 H 0.99799 | 0.99527 | 0.99738 0.2534 113 0 8 30 151 38| 1 0 0 1 2 0 0 0 153 39
31 H 0.99798 | 0.99525 | 0.99737 0.2437 113 0 8 30 151 37 1 0 0 1 2 0 0 0 153 37
32 H 0.99798 | 0.99522 | 0.99736 0.2343 113 0 8 30 150 35| 1 0 0 1 2 0 0 0 152 36
33 H 0.99706 | 0.99834 | 0.99734 0.2253 112 0 8 30 150 34 1 0 0 1 2 0 0 0 152 34
34 H 0.99705 | 0.99834 | 0.99734 0.2166 112 0 8 30 150 32| 1 0 0 1 2 0 0 0 152 33|
35 H 0.99704 | 0.99834 | 0.99733 0.2083 112 0 8 30 149 31 1 0 0 1 2 0 0 0 151 32
36 H 0.99703 | 0.99833 | 0.99732 0.2003 111 0 8 30 149 30| 1 0 0 1 2 0 0 0 151 30|
37 H 0.99702 | 0.99833 | 0.99732 0.1926 111 0 8 30 148 29 1 0 0 1 2 0 0 0 150 29
38 H 0.99701 | 0.99833 | 0.99731 0.1852 111 0 8 30 148 27 1 0 0 1 2 0 0 0 150 28
39 H 0.99700 | 0.99833 | 0.99730 0.1780 110 0 8 30 148 26 1 0 0 1 2 0 0 0 150 27
4,502 0 337 1278 6,118 2,594 26 0 -3 50 72 31 9 4 6,199 2,629




12
() ) ) )
)
A x (A) (A)x x (A) ) %
H 20] 1.01120 | 0.99615 [ 1.00723 0.8219 33 0 3 13 48 40 0 0 0 0 0 0 0 0 49 40
1 H 21] 1.01108 | 0.99613 [ 1.00718 0.7903 33 0 3 12 49 39 0 0 0 0 0 0 0 0 49 39
2 H 22] 1.01096 | 0.99612 [ 1.00712 0.7599 34 0 3 12 49 37| 0 0 0 0 0 0 0 0 49 38|
3 H 23] 1.00713 | 0.99736 [ 1.00464 0.7307 34 0 3 12 49 36 0 0 0 0 0 0 0 0 50 36
4 H 24] 1.00708 | 0.99735 [ 1.00461 0.7026 34 0 3 12 49 35| 0 0 0 0 0 0 0 0 50 35|
5 H 25] 1.00703 | 0.99734 [ 1.00459 0.6756 35 0 3 12 50 34 0 0 0 0 0 0 0 0 50 34
6 H 26] 1.00698 | 0.99733 [ 1.00457 0.6496 35 0 3 12 50 32| 0 0 0 0 0 0 0 0 50 33|
7 H 27] 1.00693 | 0.99733 [ 1.00455 0.6246 35 0 3 12 50 31 0 0 0 0 0 0 0 0 50 31
8 H 28] 1.00689 | 0.99732 [ 1.00453 0.6006 35 0 3 12 50 30| 0 0 0 0 0 0 0 0 51 30|
9 H 29] 1.00684 | 0.99731 [ 1.00451 0.5775 36 0 3 12 50 29 0 0 0 0 0 0 0 0 51 29
10 H 30] 1.00679 | 0.99731 [ 1.00449 0.5553 36 0 3 12 51 28 0 0 0 0 0 0 0 0 51 28
11 H 31] 1.00675 | 0.99730 [ 1.00447 0.5339 36 0 3 12 51 27 0 0 0 0 0 0 0 0 51 27
12 H 32] 1.00670 | 0.99729 [ 1.00445 0.5134 36 0 3 12 51 26 0 0 0 0 0 0 0 0 51 26
13 H 33] 0.99969 | 0.99414 [ 0.99837 0.4936 36 0 3 12 51 25 0 0 0 0 0 0 0 0 51 25
14 H 34] 0.99969 | 0.99410 [ 0.99837 0.4746 36 0 3 12 51 24 0 0 0 0 0 0 0 0 51 24
15 H 35] 0.99969 | 0.99407 [ 0.99837 0.4564 36 0 3 12 51 23 0 0 0 0 0 0 0 0 51 23
16 H 36] 0.99969 | 0.99403 [ 0.99837 0.4388 36 0 3 12 51 22 0 0 0 0 0 0 0 0 51 22
17 H 37] 0.99969 | 0.99400 [ 0.99836 0.4220 36 0 3 12 51 21 0 0 0 0 0 0 0 0 51 21
18 H 38] 0.99969 | 0.99396 [ 0.99836 0.4057 36 0 3 12 50 20 0 0 0 0 0 0 0 0 51 21
19 H 39] 0.99969 | 0.99392 [ 0.99836 0.3901 36 0 3 12 50 20 0 0 0 0 0 0 0 0 51 20
20 H 40] 0.99969 | 0.99389 [ 0.99835 0.3751 36 0 3 12 50 19 0 0 0 0 0 0 0 0 51 19
21 H 41] 0.99969 | 0.99385 [ 0.99835 0.3607 36 0 3 11 50 18 0 0 0 0 0 0 0 0 51 18
22 H 42] 0.99969 | 0.99381 [ 0.99835 0.3468 36 0 3 11 50 17 0 0 0 0 0 0 0 0 50 17
23 H 43] 0.99801 | 0.99542 [ 0.99743 0.3335 36 0 3 11 50 17 0 0 0 0 0 0 0 0 50 17
24 H 44] 0.99801 | 0.99540 [ 0.99742 0.3207 36 0 3 11 50 16 0 0 0 0 0 0 0 0 50 16
25 H 45] 0.99801 | 0.99538 [ 0.99741 0.3083 36 0 3 11 50 15 0 0 0 0 0 0 0 0 50 15
26 H 46] 0.99800 | 0.99536 [ 0.99741 0.2965 36 0 3 11 50 15 0 0 0 0 0 0 0 0 50 15
27 H 47] 0.99800 | 0.99534 [ 0.99740 0.2851 36 0 3 11 49 14 0 0 0 0 0 0 0 0 50 14
28 H 48] 0.99799 | 0.99531 [ 0.99739 0.2741 36 0 3 11 49 14 0 0 0 0 0 0 0 0 50 14
29 H 49] 0.99799 | 0.99529 [ 0.99738 0.2636 36 0 2 11 49 13 0 0 0 0 0 0 0 0 49 13
30 H 50] 0.99799 | 0.99527 [ 0.99738 0.2534 36 0 2 11 49 12 0 0 0 0 0 0 0 0 49 12
31 H 51] 0.99798 | 0.99525 [ 0.99737 0.2437 35 0 2 11 49 12 0 0 0 0 0 0 0 0 49 12
32 H 52] 0.99798 | 0.99522 [ 0.99736 0.2343 35 0 2 11 49 11 0 0 0 0 0 0 0 0 49 11
33 H 53] 0.99706 | 0.99834 [ 0.99734 0.2253 35 0 2 11 49 11 0 0 0 0 0 0 0 0 49 11
34 H 54] 0.99705 | 0.99834 [ 0.99734 0.2166 35 0 2 11 48 11 0 0 0 0 0 0 0 0 49 11
35 H 55] 0.99704 | 0.99834 [ 0.99733 0.2083 35 0 2 11 48 10 0 0 0 0 0 0 0 0 49 10
36 H 56] 0.99703 | 0.99833 [ 0.99732 0.2003 35 0 2 11 48 10 0 0 0 0 0 0 0 0 49 10
37 H 57] 0.99702 | 0.99833 [ 0.99732 0.1926 35 0 2 11 48 9 0 0 0 0 0 0 0 0 48 9
38 H 58] 0.99701 | 0.99833 [ 0.99731 0.1852 35 0 2 11 48 9 0 0 0 0 0 0 0 0 48 9
39 H 59] 0.99700 | 0.99833 [ 0.99730 0.1780 35 0 2 11 48 9 0 0 0 0 0 0 0 0 48 9
1416 0 105 463 1,984 842 2 0 -3 10 9 4 3 1 1,997 847
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